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Question Acceptable Question Acceptable
answers answers
1 4.5 16 3.9
2 12 17 20
3 45 18 12
4 28 19 2.7
5 5.6 20 1.4
6 13 21 0.64
7 600 22 1.2
8 3.8 23 0.49
9 5.7 24 1.5
11 34 26 0.75
12 88 27 1.5
13 29 28 3.7
14 7.8 29 4.5
15 0.84 30 1.5
Topics Questions No. Questions
Mechanics 8,9,10,11,12,13,14,15,16,29 10
Thermodynamics 2,3,4,5,6,7,30 7
Electromagnetic 18,19,20,21 4
Circuit 22,23,24,28 4
Modern Physics 25 1
Optics 16 1
Waves 15,17 2
Matter 1 1
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Question 1

AR 45 kg NZEFBREFERTHNBE. RRAKEZHKDTAR, KD T
MFEH 180gmol’, ENMKDFEE INET. EMERERST, —ERYR
2H 6.0 x102400F), ZERML0YFEFENBRUHRE 2 NARBF.

Estimate the number of atoms in the body of a 45 kg student. Assume that the human body is
mostly water, which has molar mass 18.0 g mol™, and that each water molecule contains three
atoms. (Avogadro’s number=6.0X 10 23 molecules per mole.) Give the answer in unit of
10 %7 atoms to 2 significant figures.

Solution:

45
=————=25x103
number of moles n 18 < 10-3 5% 10° mol

Each water molecule has 3 atoms, so, total number of atoms for n moles of water is
N =3 x (2.5 % 103%)(6.0 x 1023)
= 4.5 x 10%7

Answer : 4.5

Question 2

0.250 mole (YIRS AN ALY = 1.40, NFES i RREREKETLES [, EHR
RAERE | TR 20 x 1073 m®, RS [ HIEIRAMERE D B4 9.0 x 1073 m3 &
1.5atm, TTESEELES i HEE. FEY atm ARMNRBE 2 AFHEF.

0.250 mole of an ideal gas with heat capacity ratio y = 1.40, expands from an equilibrium state
i to another equilibrium state f through an adiabatic process. Given the volume of the gas at
state i is 2.0 X 1073 m3, the volume and the pressure at state fare 9.0 X 1073 m3 and 1.5 atm,
respectively. Calculate the pressure of the gas at state i. Give the answer in unit of atm to 2
significant figures.

P/atm
Solution:
P;
For an adiabatic process
PiViy — Pf[{fy
0.009\**? 15
P, =1.46 —)
’ (0.002

=12 atm

Answer: 12
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Question 3

TTHE 81.4 g, —5.0 °C fYKERIZMERK 50 °C RIKATHRERK A E, BERUKI A RMFHF
RE 2 NEREF. (EMKRAIELIAAH2050] kg™ K™1, KAJEEFA 44184 ] kg™ K™,
R 334k kg™1)

Calculate the heat absorbed to convert 81.4 g of ice at —5.0 °C to water at 50 °C. Give the
answer in unit of kJ to 2 significant figures. (Given specific heat of ice 2050 J kg~1 K™%,
specific of water 4184 J kg™! K™, heat of fusion of water 334 k] kg™1).

Solution:

Qtotal = Qice + Qice to water + Qwater
= 81.4 X (2.05 X 5 + 334 + 4.184 x 50)
= 45050 ] = 45 kJ

Answer : 45

Question 4

M 900 °CHYIR 4P HRERH — 0.45 kg RYERERAIN 10.0 kg, 24.0 °CHY/KH . RIZEEFZH
RIK, RBEBRSKNTERE. GRERILERN 49 Tkg' °C™', KEEEIR D 4184
kg °oC) BRMCHBRMREE 2 HHEKF.

A 0.45-kg iron bar is taken from a forge at 900 °C and dropped into 10.0 kg of water at 24.0
°C. Assuming no energy is lost as heat to the surroundings as the water and bar reach their final
temperature, determine the final temperature of the water-bar system. (Specific heat of iron is
449 J kg °C"!; Specific heat of water is 4184 ] kg °C"!). Give the answer in unit of °C to 2
significant figures.

Solution: No heat loss
Qiron + Qwater =0
0.45 x 449(T; —900) + 10 x 4184 (T — 24) =0
T = 28.2°C

Answer: 28
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Question 5

—RE, —MNETETHERNFEFERNNERARZ 110 W, RIRF4FTRU A9#H
FEEWRERHSTEEM . ZKALLHA 1020 J ke K, BEH 1.20 kg m”, IR1E
H2SMIFATE 1200’ BEEPLAIIR S0 04E, BEFS[NERES EAZD.
ERUK ARMREE 2 NAREF.

A typical student listening attentively to a physics lecture has a heat output of 110 W. Assume
that all the heat released by the student is absorbed by the air in the classroom. The air has
specific heat 1020 J kg™! K™' and density 1.20 kg m~. Estimate the rise of temperature of the air

in a classroom of volume of 1200 m* occupied by 25 attentive students after a 50-min lecture.
Give the answer in unit of K to 2 significant figures.

Solution: The total heat release by 25 students in 50 minutes is
AQ = NAtP = 25(50 x 60)(110) = 8.25 x 10° ]
The total mass of the air in the room is
m = pV = 1.20 X 1200 = 1440 kg
So, the temperature raises

AQ  8.25x 106

AT = = 1440 x 1020

5.6 K

Answer: 5.6

Question 6

—¥424 1.0 cm RSB EHE 20 m RN, ¥IREREH 285 K, EAUAENE
FEH 300K, ASEH 1.0 X 105 Pa, KEYZEEH 1000kgm™, ESINEEH 9.8 m s 2,
TTERBEAHEENGER., (REEFMNREAERSE, LR —ELT
R, ) BERM o’ RN RBE 2 EREF.

A spherical air bubble of radius 1.0 cm is released 20 m below the surface of a pond at

285 K. Given that the temperature at the surface of the pond is 300 K, atmosphere pressure is

1.0 X 10° Pa, the density of water is 1000 kg m?, gravitational acceleration is 9.8 m s72,

calculate the volume of the bubble when it reaches the surface of the pond.(Assume that the
gas in the bubble is an ideal gas and in thermal equilibrium the whole time.). Give the answer
in unit of cm?3 to 2 significant figures.

Solution:

From ideal gas law
PL-> Ty
(B
! 1<Pf T;

P; = Py + pgh

because
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Pr =P,
So
Vv, = 4_71(1)3 <1.0 x 10° + 1000(9.8)(20)) (300) 13 em?
3 1.0 x 105 285
Answer: 13

Question 7
HIEESEARIRN 4.0 L B[P ZERA 1.0 X 10° Pa, KIBESEANTIEEE.
BRI ARMNREE 2 NBEREF

The pressure of an ideal gas inside a container with volume of 4.0 L is 1.0 X 10° Pa. Find the
average kinetic energy of the ideal gas. Give the answer in unit of ] to 2 significant figures.

Solution:
From ideal gas law

PV =nRT

3 3
E, = EnRT = 51.0 X 10°> x 4.0 x 1073 = 600

Question 8

— R T AR 400 m HEIHIE E DI INE 4.80 ms? BINER ., YR F 94
% 6.00 ms? fOBREY, HEREED? KEMms N BRARBE 2 ERET.

The speed of a particle moving in a circle 4.00 m in radius increases at a constant rate of 4.80
ms~. At the instant when the magnitude of the total acceleration is 6.00 ms~, what is the speed
of the particle? Give the answer in unit of ms™? to 2 significant figures.

Solution:

The centripetal acceleration is

Answer: 3.8
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Question 9

A, B WiBRAEESD B Am, = 0.50 kgFlmy = 0.30 kg, BUEEFu, = 3.7 ms! Rup =-
20ms” fESEMEIFHE, WHEEBIE, BAEY AMRERSD? BERMms " AENREE
2BEREF.

Two gliders, A and B with masses m, = 0.50 kg, moving at velocity u, = 3.7 ms™, and mp =

0.30 kg, moving at velocity ug = -2.0 ms™ collide head on and elastically. What is the velocity
of B relative to A after collision? Give the answer in unit of ms™! to 2 significant figures.

Solution:
The coefficient of restitution is 1 for elastic collision,

VUpa

E= ——
Upa
Vpa = —(up —uy) = —(-2.0-3.7) =5.7ms™!

Answer: 5.7

Question 10

—/INEIN—TBENH OHFLEETE ALAETRBNEZERLNTER 3.14s ]
. BREFESESSTHERENEME 300 ms!, EAHMEEFI8ms 2, HLZHT
SEATURBEE. TEHNRE. ERMUnARMREER 2 AFHHF.

A stone is dropped from rest into a dry well. The sound of the stone hitting the bottom is heard
3.14 s after dropped. Assuming the speed of sound in air is constant at 300 ms™! , gravitational
acceleration 9.8 m s~2, and air resistance on the stone is negligible. Calculate the depth of the
well. Give the answer in unit of m to 2 significant figures.

Solution: Let t; be the time taken for the stone to fall into the bottom, and t, is the time the
sound travels from the bottom to the top of the well. H is the depth of the well

t1+t2:T

\/ZH H
—_—t — =
g u
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u 2 2 AT
VH == —J—+j—+—
2 g g u

_30 2 2 314
2 [ 9.8 9.8 300]
H=439m
Answer: 44

Question 11

ZER—RAREA31x107%g HERMARMWSEKE L. BRNESHINDHENR
RE, B% ERABIEIRAERZ 2.0 x 107° m 9B, WE 2 Frr. BEIKHREK
AFEEH0.072Nm™!, EAMEE 98 ms™? (EKREK N SKFEAER 0. FREM
RAEARVREE 2 AT

Consider an insect of mass 3.1 X 10~3g standing on water surface with its six legs. The weight
of the insect distributes uniformly to the six legs. Assume that the base of the insect’s leg is
approximately spherical in shape with a radius of 2.0x 10™> m, as shown in Fig. 2. Given the
surface tension of water is 0.072 Nm™!, gravitational acceleration 9.8 m s~2, estimate the
angle 0 of the surface tension to the horizontal. Give the answer in unit of degree to 2
significant figures.

Fsurface tension
o

" L 0—

air

water
e 4 | -

Figure 2
Solution:
Fsinf = 1mg
6
T l@ :l 3.1x107°x%x9.8 056
6 F 62m2x107°>x0.072
0=34°

Answer: 34
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Question 12

Kathy 1 Tommy ShE—E &SN FE S L. EEMEEH 36 N, Kathy F1 Tommy FJE
2750 400N & 500N, Kathy FEEBR, BLEAXRER EABRAKTSFTEE
=, NE 3T, K Kathy SHESHEIENNRN. ERUNARMREE 2 4F
BEF.

Kathy and Tommy stand on a uniform platform. The platform weighs 36 N. Kathy and Tommy
weighs 400 N and 500N, respectively. Kathy is keeping the platform in balance in the air by
holding the rope from a set of pulleys which are attached to the ceiling as shown in the Fig. 3.

Find the downward force that Kathy exerting on the platform. Give the answer in unit of N to
2 significant figures.

Pulleys set

Tommy, 500 N

% Kathy, 400 N

Wplatform =36N

Figure 3

Solution:

Pulley
T
Tommy, 500 N

Kathy, 400N

: [ ]! I ( | ] Platform
|

w
oN =
z :

' S00N (Tom) n (Kathy)

2T =500+36+n
n=400—-T
n=388N, T=312N

Answer: 88
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Question 13

—HEMNREAM =5.00kg, REFAHNMKEKD T. ARELHFE—HREHIMm=
1.00 kgf9FE IR, FEIRSHEE 2 BIREFEZFR B hus, = 0500, EiEE SHEAEER N
TR, BEAIMEEI8ms™?, RIERASEERE LBNNRAKT . BERUN
HENRBE 2 EREF,

A trolley of mass M = 5.00 kg is being pulled to right by a horizontal tension T. On top of it
sits a block of mass m = 1.00 kg. The coefficient of static friction between the block and the
trolley is pg = 0.500. If the friction between the trolley and the ground is negligible,
gravitational acceleration 9.8 m s™2, find the maximum tension T so that the block does not
slip over the surface of the trolley. Give the answer in unit of N to 2 significant figures.

m

Figure 4
Solution:
fs = ma,

T — f; = Ma.

r= (142
= (1+)usmg

.0
1.

vl

= (1+

)0.5 X1.0x98=294N

=

Answer: 29
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Question 14

—BEA m MARRPIKC L = 1.25 m BSEBdEE—$T 7 £ REEREEBEN, BEKRR
SETHEERLEKEAREY, RAERSBHNRNERYAZD? (EAMNEE
98ms~?) BRI ms  HRNREE 2 MHREF.

A block of mass m is suspended freely from a nail with a string of length L = 1.25 m. Without
considering any resistance, what minimum speed of the block at the bottom is required to
maintain a circular motion in vertical plane? (Take gravitational acceleration 9.8 m s~2) Give
the answer in unit of m s~ to 2 significant figures.

Figure 5

Solution:

By conservation of energy

L mvg = —mw? + mg2L
5> Mvp =5mv” +mg
v? = v§ —4gL
When the block is at the apex,
2
T + =m—
mg=m-
For minimum velocity vy, T = 0
Lg = vi — 4gL

vy = 4/59L = V5% 9.8 x 1.25 = 7.83 ms™*

Answer: 7.8
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Question 15

AEHRA AMBRABEFHRBANFEZER=32m, RAANKREAM=7.1x10°Kg,
B BHIREA 2M, ZRWERARHEEE 10R BYHEXTERIE, 20E 6 Fr~. MEBRARET
B3I NHEENES), KERMMARERET—BiE, REnN2zEt. R J HBEAR
BE 2NHEREF. (FE5INEH6.67x 107 'Nm?kg ™2, )

Two spherical asteroids in space have the same radius R = 32 m. Asteroid A has mass M =
7.1 X 10° Kg and Asteroid B has mass 2M. The two asteroids are relatively at rest when the
distance between their centres is 10R, as shown in Fig.6. The two asteroids move towards each
other due to the gravitational force. Find the kinetic energy of the system at the instant just
before they collide. Give the answer in unit of J to 2 significant figures. (Gravitational
constant 6.67 X 10" 1*Nm?kg=?)

\ 2M

" O

Figure 6
Solution:

Conservation of energy gives

_emem) o _eMem

10R - 2R Ex

E —4GM2—4><667><10‘1 x (7.1 x 105)2 !
k™5 R T 577 . )32

=0.84]
Answer: 0.84
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Question 16

[BRE 0 800 g A AN Tun T EBE N RER AR L, AEH LinUKFERIR
NEEAZESEEMAS A, WE 7 fx. KBKFZAKD. RENMEE
98ms~?, HRYUNHBEMREE 2 NEREF.

The lower end of a uniform bar of mass 800 g is attached to a wall by a frictionless hinge. The
bar is held by a horizontal string at its upper end so that the bar makes an angle of 45° with the
wall, as shown in Fig. 7. Find the tension along the string. (Take gravitational acceleration
9.8 m s™2) Give the answer in unit of N to 2 significant figures.

String

Figure 7

Solution:

vFrictionless
hinge

From torque balance

L
Mgzsin 45° — FyL cos45° =0

1
Fy = EMgtan45° =392N

Answer: 3.9

Question 17

—WEE EAFHRER MR B 520 Hz K. IRERBEESETEAE ME. IR
TR R RZ 490 Hz, {RIBSTAEMERRED? RESHNERA 345 ms. &
R ms HBRMREE 2 UEREF.

A stationary car is emitting sound waves of frequency 520 Hz. You are on a motorcycle,
traveling directly away from the car. What speed must you be traveling if you detect a
frequency of 490 Hz? The speed of sound in air is 345 ms™!. Give the answer in unit of
m s~ ! to 2 significant figures.

Solution:
Using Doppler effect
v+,
Jo = v+t
1. 490 B
v, :v<7:— 1) = 345<%—1) =—-199ms™!

Answer: 20
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Question 18

—EBEARLURAEAF KA TEERFOALEALERL. MEFTFIEHENKPH
— IR R EREALERL. ERKMBIBEOIFTHERDFIA 1.33 7 1.53. KK
BEESKERNERS, 0. ERUARABRUREE 2 NERHF.

A beam of natural light is incident on a water surface at such an angle that the reflected light is
completely linearly polarized. The refracted light travelling in the water turns completely into
linearly polarized as well after reflected by the surface of a block of glass. Given that the
refractive indices of the water and the glass are 1.33 and 1.53 respectively. Find the angle, 6
between the glass and water surfaces. Give the answer in unit of degree to 2 significant
figures.

Linearly
Natural light polarized light
» "’4 A . : . P L ] o
" | o Air
(4 :A". y Water
XL e n=133
G/QJ\J‘ // ®
2= 1..)“?/0% ’
Figure 8
Solution:
The incident angle is the Brewster angle,
n, 1.33
tanfy = — = —— = 05 = 53.06°
ny 1

The angle the refracted ray makes with the normal to the air/water interface is

sin Og
1.33

Oz = sin~I( ) = 36.94°

The polarizing angle for the water/glass interface is

, 153 ,
tan 0, = 133 - 05 = 49.0°

Hence, the glass block is tilted from the water surface by 49.0 — 36.94 = 12.06°

Answer: 12
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Question 19

—IKFIREE T —/KFFEE LT 0.10mm &, —KKA 542nm MBECETIRES
f&. EERE 1.0m LNEELEATHELS(E 9). TEERE LT HRamEEE.
EZERM mm ABRMREE 2 UHREF-

A narrow, horizontal slit is located 0.10 mm above a horizontal mirror. A monochromatic light
with a wavelength of 542 nm passes through the slit and forms an interference pattern on a

screen 1.0 m away from the slit(Fig. 9). Calculate the separation between two bright fringes
of the interference pattern. Give the answer in unit of mm to 2 significant figures.

S
C
r
e

v

v

¢ €
I

—

Figure 9

Solution:

The light reflecting off the mirror creates a virtual source which is 0.10 mm into the mirror,
form a double slits separation of 0.20 mm. Hence

Y
A=a*
m ay

1000
= X -6 ____ — .
Ay =542 x 10 020 2.71 mm

Answer: 2.7
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Question 20
LN RER q1 =260 pC, qo=-47.0 uC ZEJFEBIMK/NA 5.60 N, EIIAESE
207 REBEH, = 9.0 x 10°Nm?C™?, FRMm HBRREE 2 HRETF.

What must be the distance between point charges g1 = 26.0 uC, g2 = -47.0 uC for the

electrostatic force between them to have a magnitude of 5.60 N? Take electrostatic constant
1

= 9.0 X 10° Nm?C~2. Give the answer in unit of m to 2 significant figures.

471'60
Solution:
, 1 q19;
4mey, F
_ (9.0 x 109)(26.0 x 107°)(47.0 x 107°)
- 5.60
=14m

Answer: 1.4
Question 21

—HRZAH17.0cm WEARSLETYREST. UHSENEEER, 2FH 0.800T,
ERIRER TR BRRSEER 75.0 cm s 4R, SKERFIARGEBR B R BB 03
ZEREUV ARNREE 2 NAREF.

A conducting circular loop of 17.0 cm radius is placed in a uniform magnetic field. The
magnetic field has strength 0.800 T and is perpendicular to the plane of the loop.
If the radius of the loop starts to shrink at an instantaneous rate of 75.0 cm s™', find the

instantaneous emf induced in the loop at that moment it starts to shrink. Give the answer in
unit of V to 2 significant figures.

Solution:

Using Faraday’s law

d d 5

£ _EQSB = BEnr
dr
=27TBTE

= 2m(0.80)(0.17)(0.75)
=0.64V
Answer: 0.64
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Question 22

100 PERFEE 1 =-280x10°C K q=+280x 10" C HBIHMEBAE x 4 -3.00m
B+3.00m gk, Ry HEERA 4.00 m AHBBIHBEAN . ERU101ONC
BREE 2 RARET. BB HH— = 9.0x10° Nm?C™?

Fig. 10 shows two point-charges, q1 = -2.80 x 10" C and q» = +2.80 x 10" C on x axis
x =-3.00 m and x = +3.00 m. Find the magnitude of the electric field on y axis 4.00 m away
from the origin. Give the answer in unit of 1071° N C"! to 2 significant figures.

L = 9.0 x 10° Nm2C™2,

4ATTE

Take electrostatic constant

y

P 4.00m
—-3.00m 3.00m
—Q Q—x
q1 q2
Figure 10

Solution:

. 2q 1 d
 4mey \y? +d? [y2 + d2

50 x 100 2280 10719)(3.00)

3
(4.0% + 3.0%)2
=121x10"1°N ¢!

Answer: 1.2
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Question 23

— 13.0-g FEK L=620cm, KESHET—XHES E INE 11 fm, —5REH 0.42
TR BIENRE. KRSLAESZANBERNEEENKNIZTEET. WENMNE
EH98ms? HRIN A NBMREE 2 NERETF.

A 13.0-g wire of length L = 62.0 cm is suspended horizontally by a pair of flexible ropes as
shown in the Fig.11. A uniform magnetic field of magnitude 0.42 T points into the plane. Find
the magnitude of the current required to remove tension on the ropes. Take gravitational
acceleration as 9.8 ms™. Give the answer in unit of A to 2 significant figures.

1 r

=4 > x « <
x -
;f;‘g E:-_':‘:

Figure 11.

Solution: The magnetic force on the wire must be upward and have a magnitude equal to
the gravitational force mg on the wire. Since the field and the current are perpendicular to
each other,

iLB =mg
. mg (0.013)(9.8)

"T 1B T (0.62)(0.42)
=0.49 A
Answer: 0.49
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Question 24
HTEE R AR INEE. BERUAARNVREE 2 LEREHF.

Calculate the current I that is flowing in the circuit shown in the Fig.12. Give the answer in
unit of A to 2 significant figures.

Figure 12
Solution:
Regq=8+411(2 +613)
=100Q
I = 1—5 =154
Req
Answer: 1.5

Question 26

14 REBEFTR SEME t=0 MG, BIH A S VIBEMTIRGEREN C=
60.0 uF (B R ZTH, ZHEEPNEMEE R=200Q, XKEAZHFBEEFNEE. &
R0 HRUREE 2 NEREF.

Switch S in the Fig. 14 is closed at time t = 0, a battery with emf = 5V begins to charge an

capacitor of capacitance C = 60.0 pF. If the resistance R = 20.0 Q. Find the energy stored in
the capacitor after fully charged. Give the answer in unit of 1073/ to 2 significant figures.

Solution:
1 1
E = ECVZ = 5(60 X 10_6)(52)

—0.75x 1073/
— W

Answer: 0.75 R

emf |+

i
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Question 27
BRETHEREBEPHMETAESHBNTRERBEEUTASR

Ax A >h
xp_4n

HpAxiAp A ANERABNATIENE, h A ERREL.

HEAREP, RIBREBEME— T EFNRIPHT, DEFRERRETFZTHER
TREBELRE. FERFERTRTOEIHNENT, HUEBNFTHEMHAANTT
FEFRZAARN0 " m, KUEREFAHERBHER FNRNTEHNE. (BFRE
49.1x 1073 kg, EHATTEEAN6.6 x 107°* Js) HERMU107° J ARNREE 2 HRHK
F,

Heisenberg uncertainty principle states that the uncertainties of the position and momentum of
a microscopic particle satisfies inequality,

h

Ax Ap = —
P 4T
Where Ax and Ap are the uncertainties of position and momentum, respectively, h is Planck
constant. In a f-decay, an electron and an anti-neutrino are released. Physicists have built
models of electrons inside a nucleus to explain f-decay. Assume that the average momentum
of an electron is zero in a nucleus and the uncertainty of the electron, Ax is about the nucleus
size 10~15m. Use Heisenberg uncertainty relation to lower bound mean kinetic energy of an
electron inside a nucleus. (Electron mass = 9.1 X 1073! kg , Planck constant=6.6 X 1073 ]s)
Give the answer in unit of 107°J to 2 significant figures.
Solution:
2

Mean kinetic energy is given by T = %, where brackets denote the mean. Since mean

momentum vanishes, we express the momentum variance as (Ap)? = (p?) — (p)? = (p?). The

.. . . . Ap)? . .
mean kinetic energy is therefore proportional to the variance: K = %. Using the uncertainty
: . . A L
relation Ax Ap = h/2 we obtain the required lower bound K > Ty The kinetic energy
n? _ 1.113x107%8

of a hypothetical electron inside the nucleus is therefore at least 5
1.5x107° J.

mAx2 ~ 89.109x10-3110-30

Answer: 1.5
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[B) 28 E 30 AL, SHEIBT DOMPEREANENLRE, HAEMLRE
§, ZRE BN ERRBAXBIEDREERER . ZREBEEL I, $EREANKY

Mz tgH.

Questions 28 to 30 are virtual experimental questions. Participants must enter the virtual
laboratory through an external link. In the virtual laboratory, obtain the relevant data
according to the requirements of the question and use the data to calculate the correct
answer. Finally, return to this page and fill the answers in the corresponding box.
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Question 28

Objective: Find internal resistance of a battery. Give the answer in unit of () to 2 significant
figures.

According to Ohm’s law, the potential difference, V' across a resistor is proportional to the
current, [ that flows through the resistor. The proportional constant is the resistance, R of the
resistor.

V =1IR
In this experiment, a rheostat is connected to a battery with an internal resistance, r. The
objective of the experiment is to find the value of the internal resistance by measuring the
values of current and voltage for different values of external resistance.
In this virtual laboratory, you can,
1. use mouse right button to rotate the angle of view or switch the scenes between table and lab
by clicking the button “Show Table” or “Show Lab”.
2. show or hide equipment labels by clicking the button “Show Labels” or “Hide Labels”.
3. use mouse left button to drag the two wires(red and blue) of voltmeter to the positions that
you want to measure the voltage.

4. turn on or off the battery by clicking the button on the battery.
5. turn on or off the voltmeter by clicking the button on the voltmeter.

6. adjust the value of rheostat by dragging the sliding bar at the right panel.

Resistance:1.00 Ohms

Voltmeter: 0.000 V

Ampmeter: 0.000 A
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KB EEY: KREMHORNEMR. BERUOARMFREE 2 FRHF.

RFEFIEER, BEFMmNBEMAEVIELL T RISHEHERNER], LLEIF LR AEE
sRHYEEFEME R,

V =1IR
FWEEF, —IJREES—NEFRNEErNEBEERE. SRENZBINEARE
SNERPRIE AV EE R S EE R SR ER S A N B PR

AXEISREER, fRATI

1. FEBRAREENAS A THE%E “Show Table” 3¢ “Show Lab"3k{)# s m I SLIe =
El\]i%%O

2. mii%%E “Show Labels” 8 “Hide Labels”3k B 7~ =} bR (L 28 FIFREE

3. EAERARBESBRITNAZFSEUNRERENEBEMNNUE.
4. R E AR BBt .

5. R EIT LAk B &t

6. R AN EHEHNBHRIEBREROEIE.

Solution:

emf =V +Ir

Vg = emf —1Ir
The potential difference across the external resistance, Vj is linearly proportional to current, [
with the internal resistance, r as the slope. By measuring two sets of data (11, V;), (I3, V), we
can calculate the internal resistance.
V-0
I =L

r=|

Ans: 3.7
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Question 29

Objective: Find launching speed of a projectile. Give the answer in unit of ms™! to 2
significant figures.

If the air resistance is negligible, we can obtain the launching speed, v, and angle of a
projectile, 8 by measuring the trajectory of the projectile.

g

1
Yy — Yo =tan (x — xo) T 20%cos?0 (x — x)?

Where g = 9.80 ms 2.

In this experiment, you are given a projectile launcher and a height detector which is
movable along a horizontal trail. The angle of the launcher is adjustable, but the launching
speed is always fixed. The mission of this question is to find the launching speed from the
information of the projectile’s initial and final positions.

In this virtual laboratory, you can,

1. move the height detector by dragging the sliding bar at right panel.

2. increase the launcher angle by clicking the button “Increase angle” or press key “q”.
3. decrease the launcher angle by clicking the button “Decrease angle” or press key “e ”.
4. launch the projectile by clicking the button “Launch” or press key “ f”.

5. reload the projectile by clicking the button “Reload” or press key “r”.

The initial and final position will be shown after the projectile was launched

XMUM CUP

Height detecior| @] cm

Decrease angle

Increase angle
&

aunch | Reload |

Adjustable vertical board position:

Initial x position : -92.23 cm
Initial x position : 15.00 cm
Final x position : -92.23 cm
Final x position : 15.00 cm

y position(cm)
N
S

-60 -40 -20 0 20 40
x position(cm)
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29
2v3 cosze( *o)

y—yo =tanf (x — xy) —
Hdg=980ms2

HEIXES, REST DM E LG — /\_IL,(7J<$%EJJE’]m}#1J\/ﬂJ%§O x

SHRNBETMIAE, EAHENAFEEXNNREEN. XNEENISERITE

B S A B #1965 5 AR B SR SK H S 19 4 B i R

EXEMULEES, R
1. é"ﬁﬂ%E LB RRE S EUNENAE.
. B iR “Increase angle” =Y, % NEA “q” RIBMASHFNAE.
.,mﬁ&% “Decrease angle”s} % MR “e ” KR/ NAK =N AE
SR “Launch”s} 12 TR “ £ KA FMEHE.
REIREE “Reload”sf) L THEE “r " kERLHE.
%%ﬁ%ﬂ@%ﬂﬁéh%'—ﬁkh%%f Zi%ﬂa—‘ﬁl %o

Solution:

Select a suitable launching angle, 8, then measure two positions of the trajectory (xq,y1),
(x2,¥,). We can calculate the fixed 8 from the two simultaneous equations,

1 g
— —t 0 — e e —— — 2
(y1 — Yo) —tan 6 (x1 — xo) 2 vZ cos? 0 (%1 — %o)
(y2 — ¥o) —tan @ (x —x)=—l—g (x; — x0)?
Y2 = Yo 2 0 2vZ cos? 6 2 0

LetX; =% — %0, V1 =Y1 = Y0, X2 =% — X0, Y2 = Y2 — Vo
Divide two equations
Y, —X,tanf X2
Y, —X,tan 6 - X_§
2
v -y
tanf = 22
2

Rt

Then the launching speed can be calculated from
2
172 _ 1 g Xl
O 2cos?26 X,tanf — Y,

Ans: 4.5
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Question 30

Objective: Find coefficient of linear expansion of an unknown metallic rod. Give the answer
in unit of 1075 °C~! to 2 significant figures.

In this experiment, you are given an unknown metallic rod covered by an insulating tube.
The tube is connected to a steam heater which is used to heat up the rod uniformly inside the
tube. One end of the metallic rod is fixed and the other end is connected to a dial gauge. When
the rod is under thermal expansion, the axle of dial gauge will be pushed and rotate in an angle,
6. The angle in unit of radian multiplies the radius of the gauge’s axle, which is r =
1.50 mm, will give the linear expansion of the rod, AL = r0
If the length of the rod at temperature 23.0 °C is 50.0 cm, try to determine the linear
expansion coefficient of the rod from this experiment.

In this virtual laboratory, you can

1. show or hide the labels by clicking the button “Show Labels” or “Hide Labels”.
2. turn on or off the heater by clicking the button “Heater On” or “Heater Off”.

3. calibrate the dial gauge by clicking the button “Zero”.

4. read the temperature of in the tube from the thermometer.

5.read the angle from the dial gauge.

XMUM CU -

Heater On || Zero

Thermometer:
Steam heater 23.00 oC

Temperature: 23.000 oC

Dial Meter:
3.74 degrees Angle: 3.735 degrees

Unknown metal rod -

Insulating tube
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KBEB: RRMEBENEWKRE, ERU0° CTIHENRERE 2 NEREF.

HERKREF, —ZFRMNEBEHEETHHEH., BESFEMMNEBER, &R
N IMAEFNEEE. €EEN—IRHEE, H—wlEEHER. SeBE
SRR, HEINNHBSHIETMEIEE 0 BE. DIIEARMNAAEOR L
¥42r=1.50mm, MESNEBEENLFKE AL =16,

EHAEZEE23.0°CH, €BEMNKEZS500cm, RMNLTEEELSEENSGEK
R
EXEMSEE =R, {REIY
1. S 1% “Show Labels” ={ “Hide Labels”3k & 7R 3} bR (U 83 AR 3E ,
2. S #i%EE “Heater On” = “Heater Off’3F B EhZ& 5 INHES .
3. R RRE “Zero” KA IE{RAEIN AIIEEL.
4. R ETHEE R E R RERE.
5. NG HLEBIEsHIRERN A E.

Solution:
1. Calibrate the dial gauge to zero.
2. Record the initial temperature and length of the rod, (T, Ly)
3. Turn on the steam heater. Wait until the temperature reaches an equilibrium temperature 7,
4. Record the angle, 8 read by the dial gauge.
5. Then, the coefficient of linear expansion will be
r0

dA=—
Lo(T = To)

Ans: 1.5
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